
 

                                                               
                                                 
      
       

 
The following exercises will guide the student to grasp the essential 
elements in this lesson.  If you cannot answer a question, take the time 
now and restudy the material from the lesson.  Remember that there 
are not any time limits in answering these questions. 
 
Exercise One.  Fill in the blank.   
 
1.  Supply the appropriate form of the article.   
 

 Singular Plural 
Masculine Feminine Neuter Masculine Feminine Neuter 

Nominative      
Genitive      

Dative      
Accusative      

 
2.  Supply the correct article and lexical form for the following inflected 

words. 
 

 Article Inflected Form Lexical Form 
1.   
2.   
3.   
4.   
5.   
6.   
7.   
8.   
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Exercise Two: True or False.  Circle the correct answer. 
 
1. An accent is a diacritical mark written over a vowel or consonant to 

indicate the syllable receiving the greatest stress.   True     False 
 
2. A disyllabic word has two or more syllables.   True    False 
 
3. The circumflex may stand only over a long vowel.   True   False 
 
4. The last syllable of a word is called the penult.   True   False 
 
5. A word may be accented on any of its syllables.   True   False 
 
6. A syllable’s accent is not only dependant on its position, but also upon 

the quantity of the accented vowel or diphthong.   True   False 
 
7. The ultima syllable allows the greatest diversity of accentuation. 
     True    False 
 
8. If the ultima is long (either a long vowel or diphthong), a circumflex 

cannot stand over the penult.   True   False 
 
9. Once the accent of the genitive singular is known, all other inflected 

forms of the word many be determined.   True   False 
 

   10.  If a word is a first declension noun genitive plural, a circumflex is placed 
over the ultima syllable, regardless of the lexical accent.   True   False 

 
   11.  If the ultima syllable becomes long because of change of case-number 

inflection, and the acute accent was over the antepenult syllable in the 
nominative singular, then the accent MUST MOVE from the antepenult 
to the penult syllable.  This rule affects ALL second declension nouns, 
regardless of gender.  True    False 

 
   12.  If the nominal singular has an acute accent over its ultima, the acute 

MUST CHANGE in type to a circumflex accent over the singular and 
plural inflectional forms of the genitive and dative.  This rule affects ALL 
second declension nouns, regardless of gender.  As far as this rule is 
stated, this affects all second declension nouns.  True   False 
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   13.  If a circumflex is over the penult in the nominative singular and the 
ultima becomes long due to case-number inflection, the circumflex 
MUST CHANGE in type to an acute accent.  True   False 

 
   14.  The circumflex accent may stand over the antepenult.  True   False 

 
   15.   A Greek-English lexicon cites the position and type of accent for every 

noun in its nominative singular form.   True   False 
 

   16.  The alpha in the ultima of neuter nominative, genitive, and vocative 
plural nouns is always short.   True   False 

 
   17.  Nouns with the circumflex accent over the ultima in the nominative 

singular are rarely encountered in NTGreek.    True    False 
 

Exercise Three: Accented words.  Circle the improperly accented words. 
 
    
    
    
    
    


Exercise Four: Multiple choice.  Circle the correct answer. 
 

1.   The acute accent may stand over which syllables? 
 
 amonosyllabic    cdisyllabic 
 
 b  ultima, penult, antepenult  d  polysyllabic 
 

2.   The grave accent is associated with which syllable(s)? 
 
 aultima     c  penult 
 
 b  ultima and penult   d  antepenult 
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3.   What is the basis for a word’s accent? 

 
 aa lucky guess    c  principles of intonation 
 
 bhow you feel in the morning d  if the ultima is long 
 

4.   Stress on a syllable is indicated by which of the following? 
 
 a  extra loudness on the accented syllable 
 
 b  clearer quality of the vowel or diphthong 
 
 c  some slight lengthening of the vowel 
 
 d  all of the above 
 

5.   An accent is written over which vowel of a proper diphthong? 
 
 a  the first vowel   c  third vowel 
 
 b  the second vowel  d  diphthongs are not accented 
 

6.    When a breathing mark and an accent are placed over the same 
vowel, which comes first? 

 
 athe accent   c  the breathing 
 
 b  if acute, accent first  d  if smooth, breathing first 
 

7.    Which of the following diphthongs are considered short for the 
purposes of accent when they appear at the end of a word? 

 
 a   c

 b    d   
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8.     If the ultima is long, an acute accent cannot stand over the antepenult 

syllable.  What does this imply? 
 
 a  Fourth of July is coming earlier this year. 
 
 ba long ultima prohibits the acute to stand over the antepenult 
 
 c  the acute must shift to a circumflex accent on the penult syllable 
 
 d  the lexical form is incorrect 
 

9.   The lexical form of any noun cites what important information? 
 
 athe article (thus the gender of the noun) 
 
 bthe type and position of the accent 
 
 cthe genitive singular form 
 
 d  all of the above 
 

10.   If the position and type of accent is not known for the nominative 
singular, what is impossible to know how to do? 

 
  a decline the noun   
 
   b  accent other case-number forms of the same noun 
 

cspell properly the nominative singular 
 
   d  determine the gender of the noun 
 

11.   Which of the following nouns is accented properly?   
 
    a

 b

c

d
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12.  What is the correct declension-paradigm notation for ? 
 
  a.  n-2a    c.  n-2b 
 
  b,  n-1a    d.  n-1b 
 
13.  What is the correct declension-paradigm notation for ? 
 
  a.  n-2a    c.  n-2b 
 
  b.  n-1a    d.  n-2c 
 
14.  What is the correct declension-paradigm notation for ? 
 
  a.  n-1a    c.  n-1c 
 
  b.  n-1b    d.  n-1d 
 
 
Exercise Five: Correct accent.  Supply the correct accent for the 
following nouns.  The accent for the nominative singular (the lexical form) 
is cited.  As a further aid, sections numbers are given for review (if 
necessary) for the proper accent on the words. 

 
 a.  Review §10.3.2(1) before accenting the following words. 
 

n-2a Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
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n-2a Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
 

n-2b Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
  

n-1c Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
 
b.  Review §10.3.2(2) before accenting the following words. 
 

n-2a Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
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n-2a Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
   

n-1c Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
 
c.  Review §10.3.21 before accenting the following words. 

 
n-2a Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
 

n-2c Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
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d.  Review §10.3.3 before accenting the following words. 
 

 n-1b Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
 
 

 n-2a Singular Plural 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
 
 

e.  Review §10.3.4 before accenting the following words. 
 

 n-1h Singular Singular 

C
A

SE
 

Nominative  

Genitive  

Dative  

Accusative  

Vocative  
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Exercise Six: Grammatical parsing.  Parse the following words. 

 

D
ef

in
iti

on
 

th
e 

tru
th

 

Jo
hn

 

se
a 

H
ad

es
 

ju
dg

e 

Je
su

s/
Jo

sh
ua

 

an
ge

r, 
w

ra
th

 

sa
lv

at
io

n 

co
ve

na
nt

 

w
ild

er
ne

ss
 

ro
ad

, w
ay

 

vo
ic

e,
 s

ou
nd

 

la
ir 

ea
rth

, g
ro

un
d 

gl
or

y 

di
sc

ip
le

 

(w
ild

) a
ni

m
al

 

Le
xi

ca
l F

or
m

 
 





































































































D
ec

l 
--

--
 

n-
1a

 

n-
1f

 

n-
1c

 

n-
1f

 

n-
1f

 

n-
3g

(1
) 

n-
1b

 

n-
1a

 

n-
1b

 

n-
2b

 

n-
2b

 

n-
1b

 

n-
1f

 

n-
1h

 

n-
1c

 

n-
1f

 

n-
2c

 

N
um

 
si

ng
ul

ar
 

si
ng

ul
ar

 

si
ng

ul
ar

 

pl
ur

al
 

si
ng

ul
ar

 

si
ng

ul
ar

 

si
ng

ul
ar

 

si
ng

ul
ar

 

si
ng

ul
ar

 

pl
ur

al
 

si
ng

ul
ar

 

pl
ur

al
 

pl
ur

al
 

si
ng

ul
ar

 

si
ng

ul
ar

 

si
ng

ul
ar

 

si
ng

ul
ar

 

si
ng

ul
ar

 

G
en

de
r 

fe
m

in
in

e 

fe
m

in
in

e 

m
as

cu
lin

e 

fe
m

in
in

e 

m
as

cu
lin

e 

m
as

cu
lin

e 

m
as

cu
lin

e 

fe
m

in
in

e 

fe
m

in
in

e 

fe
m

in
in

e 

fe
m

in
in

e 

fe
m

in
in

e 

fe
m

in
in

e 

m
as

cu
lin

e 

fe
m

in
in

e 

fe
m

in
in

e 

m
as

cu
lin

e 

ne
ut

er
 

C
as

e 
ac

cu
sa

tiv
e 

ac
cu

sa
tiv

e 

ge
ni

tiv
e 

no
m

./v
oc

. 

no
m

in
at

iv
e 

ge
ni

tiv
e 

da
tiv

e 

ge
ni

tiv
e 

no
m

./v
oc

. 

ge
ni

tiv
e 

no
m

./v
oc

. 

no
m

./v
oc

. 

ge
ni

tiv
e 

da
tiv

e 

ac
cu

sa
tiv

e 

ac
cu

sa
tiv

e 

ge
ni

tiv
e 

no
m

./v
oc

. 

W
or

d 












































































































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